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PHẦN TRẮC NGHIỆM (15 CÂU: 6 ĐIỂM) (0.4 ĐIỂM/CÂU) 

Câu 1:  

Which of the following would be information rather than data:   

A. Percentage of average score above 5 points of students  

B. A student's subject marks 

C. The number of rooms a hotel has available on a given day. 

D. Total material usage 

ANSWER: A 

 

Câu 2:  

Hut's Pizza produced and sold 1,000 pizzas last month and had fixed costs of $5,000.  If 

production and sales are expected to increase by 10% next month, which of the following 

statements is true? 

A. Fixed cost per unit will decrease. 

B. Fixed cost per unit will increase. 

C. Total fixed costs will increase. 

D. Total fixed costs will decrease. 

ANSWER: A 
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Câu 3:  

Which of the following is NOT a characteristic of a good information? 

A. Complicate  

B. Clarity  

C. Relevant 

D. Timely 

ANSWER: A 

 

Câu 4:  

The following data pertains to activity and maintenance costs for two recent years: 

 Year 2 Year 1 

Activity level in units 12,000 5,000 

Maintenance cost 17,100 11,500 

If the high-low method is used to separate fixed and variable components of the cost. What 

is the level of fixed costs? 

A. $7,500 

B. $5,250 

C. $7,000 

D. $8,500 

ANSWER: A 

 

Câu 5:  

Which of the following cost would NOT be classed as indirect labour cost? 

(1) Assembly workers 

(2). Factory cleaning staff 

(3). Plasterers in a building company 

(4). A consultant in a firm of tax consultants 

A. (1), (3), and (4)  

B. (2) and (4) 

C. (1), (2), and (3) 

D. (1) and (3) 

ANSWER: A 

 

Câu 6:  

Data relating to a particular stores item are as follows: 

Average daily usage 500 units 

Maximum daily usage 1,000 units 

Minimum daily usage  300 units 

Lead time for replenishment of inventory 7 to 14 days 

Reorder quantity 8,000 units 

What is what is the maximum inventory level? 

A. 19,900 

B. 14,000 

C. 18,000 

D. 19,000 

ANSWER: A 
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Câu 7:  

A purchase price on an inventory item is $70 per unit. In each three-month period, the 

demand is 20,000 units. The annual holding costs associated with one unit equate to 6% of 

its purchase price. The cost of placing one order for the item is $67.2. What of the EOQ for 

the inventory item?  

A. 1,600 unit 

B. 1633 unit 

C. 730 unit 

D. 800 unit 

ANSWER: A 

 

Câu 8:  

The following information relates to the a raw material inventory item: 

- EOQ = 600 units      

- Holding costs = $3 per unit per annum 

- Annual demand = 25,000 units  

What is the cost of placing an order (Co)? 

A. $21.6 

B. $16.5 

C. $20.5 

D. $20.6 

ANSWER: A 

 

Câu 9:  

A company has 3,600 staff at the start of 20X3 and at the end this had reduced to 3,350 due 

to redundancies being made. 265 staff took voluntary redundancy which was 15 more than 

the company had anticipated and these 15 employees were replaced. What is the labor 

turnover rate per year? 

A. 0.43% 

B. 5.66% 

C. 7.19% 

D. 7.63%  

ANSWER: A 

 

Câu 10:  

The following data relate to work in the finishing department of a certain factory. 

Normal working day                                   8 hours 

Basic rate of pay per hour                           $6 

Standard time allowed to produce 1 unit    3 minutes 

Premium bonus payable at the basic rate 60% of time saved.  

On a particular day one employee finishes 200 units. What is his gross pay for the day? 

A. $55.2 

B. $60 

C. $48  
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D. $50.2 

ANSWER: A 

 

Câu 11:  

Overhead absorption rate is $3.5 per machine hour and the budgeted machine hours for this 

period is 32,000. Actual total overhead expenditure amounted to $108,875 and 30,000 

machine hours were recorded on actual production in the same period. Which of the 

following statement is true?  

A. Total overhead for the period is under absorbed by $3,875 

B. Total overhead for the period is over absorbed by $3,875  

C. Total overhead for the period is under absorbed by $7,000 

A. Total overhead for the period is over absorbed by $7,000   

ANSWER: A 

 

Câu 12:  

Actual overheads:                     $261,000  

Actual machine hours:                  18,000  

Budgeted overheads:               $247,500  

Based on the data above, and assuming that the budgeted overhead absorption rate was $15 

per hour, what were the budgeted number of hours (to the nearest hour) budgeted to be 

worked?  

A. 16,500 hour   

B. 16,900 hour   

C. 17,900 hour   

D. 17,400 hour   

ANSWER: A 

 

 

Câu 13:  

Water Corporation produces a single product. Last year, the company had net operating 

income of $38,000 using variable costing. Beginning and ending inventories were 15,000 

units and 12,000 units, respectively. If the fixed manufacturing overhead cost was $3.50 per 

unit, what would have been the net operating income using absorption costing?  

A. $27,500  

B. $28,000  

C. $30,600  

D. $48,500     

ANSWER: A 

 

Câu 14:  

A company manufactures two joint products, A and B, in a common process. Data for June 

are as follows.  

Opening inventory   400  
Direct materials added  6,000  
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Conversion costs  9,000 (labour cost + overhead cost) 

Closing inventory  600  

     Production  Sales  Sales price  

   Units   Units   $ per unit  

A 5,000 4,000 2 

B  6,000 5,000 5 

If costs are apportioned between joint products on a sales value basis, what was the cost per 

unit of  product B in June?  

A $1.48 

B $0.74  

C $1.58  

D $1.754     

ANSWER: A 

 

Câu 15:  

Which of the following costing methods is most likely to be used by a Coca soft drink 

manufacturing company? 

A. Process costing  

B. Job costing 

C. Batch costing 

D. Service costing 

ANSWER: A 

 

PHẦN TỰ LUẬN (4 điểm) 

Câu 1: (2 điểm) 

The following information was available for the last month:  

Input units   4,000  

Output units  3,800 (finished units) 

Opening inventory 300 units, 100% complete for materials and 60% complete for conversion 

costs   

Closing inventory 500 units, 100% complete for materials and  40% complete for conversion 

costs  

The company uses the weighted average method of valuing inventory.  

1. What were the equivalent units for material costs?      (1đ) 

2. What were the equivalent units for conversion costs?  (1đ) 

 

 

Đáp án Câu 1: 

1. The equivalent units for material costs = Finished units + closing inventory *% finished 

(0.5đ) 

 = 3,800+500*100%=4,300 unit (0.5đ) 

 

2. The equivalent units for conversion costs = Finished units + closing inventory *% 

finished (0.5đ) 

 = 3,800+500*40%=4,000 unit (0.5đ) 

 

Câu 2 (1 điểm) 
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Data relating to a particular stores item are as follows: 

Average daily usage 90 units 

Maximum daily usage 180 units 

Minimum daily usage  100 units 

Lead time for replenishment of inventory 5 to 10 days 

Reorder quantity 600 units 

1. What is the reorder level (in units) which avoids stockouts (running out of inventory)? 

(0.5 điểm) 

2. What is the maximum inventory level (0.5 điểm) 

 

Đáp án Câu 2: 

1. Reorder level = maximum usage * maximum leadtime  (0.25điểm) 

                       = 180*10=1,800 units    (0.25điểm) 

2. The maximum inventory level= Reorder level + reorder quantity – (minimum usage  

*minimum leadtime)     (0.25điểm) 

= 1,800+600-(100*5)= 1,900       (0.25điểm) 

 

Câu 3 (1 điểm) 

A company which uses absorption costing has a profit of $350,000 for a period. Opening 

inventory was 300 units and closing inventory was 600 units. The fixed production overhead 

absorption rate is $45 per unit.  

What is the profit under marginal costing?  

 

Đáp án Câu 3:  

Opening inventory< Closing inventory  

 The profit marginal costing < the profit under absorption costing  (0.5 điểm) 

 The profit under marginal costing = The profit absorption costing - 

OAR*/Closing inventory -opening inventory/=$350,000-45*(600-

300)=$336,500 (0.5 điểm) 
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